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Mock Test 16

Why did the Swadeshi movement fizzle out? Pick out possible reasons from the choices given below:

1. There was severe government repression.

2. It rejected the techniques that later came to be associated with successful Gandhian politics such as
noncooperation and passive resistance.

3. Pesantry did not take part in large numbers and the movement was largely restricted to the upper social
and economic classes.

Select the correct answer using the codes below.

A.1land 2 only B. 1and 3 only C.2and 3 only D. 3 only

Consider the following statements about Foreign Currency Exchangeable Bonds (FCEB).

1. It is a bond expressed in foreign currency, but the principal and the interest of which is payable in
foreign currency.

2. Prior approval of the RBI is required for the issue of FCEB.

3. The bonds cannot be subscribed by a person resident outside India.

Select the correct answer using the codes below.

A. lonly B. 2 and 3 only C.2only D. 1and 3 only

Montagu's statement made in August 1917 promised

1. Increasing participation of Indians in every branch of administration

2. Gradual development of institutions with a view to the progressive realisation of responsible government

Which of the above is/are correct?

A.1only B. 2 only C.Both1and 2 D. None
The Red Shirts movement was launched by

A. Khan Abdul Gaffar Khan B. P. Krishna Pillai

C. Sawai Tendulkar D. Maulana Abul Kalam Azad

Purchasing power parity (PPP) method is used to compare

1. Standard of Living across different countries

2. Potential of economic growth and natural resource base stock

Which of the above is/are correct?

A.1only B. 2 only C.Both1and 2 D. None

With reference to tribal movement in colonial India, consider the following statements.

1. The Santhals under Sido and Kanhu rose up against the British oppressors declaring the end of the
Company's rule and asserted themselves independent in 1854,

2. The Ahom revolt was organized against the British attempt to incorporate the Ahoms' territories in
Assam in the Company's dominion.

3. The Khasi uprising was against the British recruiting Khasis in the imperial armed forces against the
wish of the locals.

Select the correct answer using the codes below.

A. land 2 only B. 2 and 3 only C.1,2and3 D. 3 only
The International Court of Arbitration is a branch of the

A. United Nations B. International Criminal Court

C. International Chamber of Commerce (ICC) D. International Court of Justice

What are the effects of the proclamation of a Financial Emergency in India?

1. The Consolidated Fund of the States are suspended and Parliament assumes full powers of managing
the financial affairs of the state.

2. The schemes and programmes of States that require significant financial outlays are automatically

dissolved.
Which of the above is/are correct?
A.1lonly B. 2 only C.Bothland?2 D. None

Consider the following statements.

1. C. Rajagopalachari led a salt march from Trichinopoly to Vedaranniyam on the Tanjore coast in Tamil
Nadu, in support of the Civil Disobedience Movement.

2. K. Kelappan, a Nair Congress leader, launched the Vaikom Satyagraha and marched from Calicut to
Payanneer in defiance of salt laws.

Which of the above is/are correct?

A. lonly B. 2 only C.Both1land2 D. None



